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The Mishnah does not read; — IR KD KON 2100 N Nw: KD
The men did not marry, but rather, the women were not married

OVERVIEW

'RMX 27 infers from the fact that the 71w reads w1 X instead of Ww1 X9, that the
delay was because of the women. N1901n explains how the X723 knew that it should
be read Ww-1, even though that the actual spelling is always Ww1 (without a 7"v),
whether it refers to the men or to the women.”
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It was an accepted tradition by the 2°X71K to read it W1 X% (not w1 XY) -
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And furthermore if it reads Ww1 X% and it is referring to the men (that they did
not marry the women), the 71wn should have also concluded in the plural; ‘and
the women eat from them’, the men; instead of stating it in the singular, ‘and they eat from

him’.

SUMMARY

There was a tradition to read the 71wn as X®°1, and it also fits better with the
singular conclusion of Y2wn MYIX.

THINKING IT OVER

Can we perhaps understand the second explanation of Mmoo by distinguishing
between X1, which must mean many men, and X%l which may mean only one
woman (and one man)?5

D axwa (%9) with a ynp under the 1" means the men (did not) marry (the women). WXw»1 (X2) with a p>3°n1 under the 7"
means the women were (not) married (to the men).

% See y"ay.

?If the nawn reads (yp2) w1, the subject is men — plural; the 7awn should continue in this vein; ‘if the men do not
marry, the women (whom these men did not marry) can eat from them,” in the plural (not from him, in the singular),
for the word Y7wn is referring back to the subject — the men. However if we read (p>1°m2) w1 the subject is women;
if women do not get married they (each one) may eat from him (their respective husband), since the word 2w is not
referring back to the subject — the women. [Alternately, X1 can be referring to many women who married one
man.]

* The w"wn amends this to read MK (instead of MY1XY).

> See following XX 71"7 'O
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